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CERTIFICATE IN SERICULTURE (CIS) 

Term-End Examination 
rr 	 June, 2016 C.) 
C) 

BLPI-002 : HOST PLANT CULTIVATION 

Time : 2 hours 	 Maximum Marks : 50 

Note : Answer any five questions. All questions carry equal 
marks. 

1. 	Fill in the blanks (any ten) : 	 10x1=10 
(a) Soil pH suitable for growth of mulberry is 

(b) Temperature below 	and above 
	affects the growth of mulberry. 

(c) 	 tonnes of FYM is applied for 
one hectare of mulberry garden under 
rainfed conditions. 

(d) 	 is the mulberry variety 
recommended for plains of Tamil Nadu. 

(e) Number of plants that can be 
accommodated in one hectare with 
30 x 30 cm spacing is 	 

(f) 'V' cut is given in case of 	 
grafting. 

(g) Unwanted plants in a crop are called 

(h) 	plough is useful in hard, stoney 
and stumpy land conditions. 
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(i) Goshoerami variety can produce 
 tonnes of leaf yield per hectare/ 
year under irrigated bush type of plantation. 

bacterium helps in nitrogen 
fixation. 

(k) Leaf harvest should be done in 	 
hours of the day. 

(1) 	Process of cutting off thick tree trunks to 
allow a thick crown of branches is 

2. (a) Name two food plants of Muga silkworm. 	2 

(b) Name any two pests of Tapioca. 	 2 

(c) Name any two food plants of Eri silkworm. 	2 

(d) List out the methods used in propagating 	2 
Muga food plants. 

(e) What is the spacing recommended for 	2 
Arjun plantations ? 

3. 	(a) What are the systems of plantations 	2 
followed in mulberry ? 

(b) List out the desired characters of mulberry 	2 
varieties for temperate regions. 

(c) Name two varieties of mulberry that are 	2 
recommended to grow under rainfed 
conditions. 

(d) What are the advantages of pruning ? 	2 

(e) What are the two machines that are used 	2 
to apply chemicals in mulberry ? 
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4. 	(a) Name the two bio-fertilizers used in 	2 
mulberry. 

(b) Name two mulberry varieties used under 	2 
irrigated conditions in eastern and 
north-eastern India. 

(c) What are the advantages of application of 	2 
FYM ? 

(d) What are the climatic conditions under 	2 
which mulberry is grown in north, east and 
north-eastern India. 

(e) Name any two crops that can be grown as 	2 
intercrop in Muga plantation. 

5. (a) Name any two methods of propagating 	2 
muga food plants by vegetative means. 

(b) What is germination ? 	 2 
(c) Mention two pests and two diseases of 

Arjun and Asan plants. 
(d) What is the damage caused by stem borer 	2 

in Muga plants ? How do you control it ? 
(e) What are the desired characters of mulberry 	2 

varieties under sub-tropical conditions ? 

6. 	(a) Mention any three activities that could be 	2 
mechanized in mulberry cultivation. 

(b) What is the leaf yield of Chawki and 	2 
Lateage V1  mulberry garden per hectare per 
year ? 

(c) What is the moisture, carbohydrate and 	2 
protein content of a good quality mulberry 
leaf ? 

(d) Name two weeds that can be seen in 	2 
mulberry garden. 

(e) What is compartmental bunding ? 	2 

BLPI-002 	 3 	 P.T.O. 



	

7. 	(a) What are the methods ofdrrigation followed 
	

2 
in mulberry plantations ? 

(b) What is mulching ? 
	

2 

(c) Mention the advantages of drip irrigation. 	2 

(d) Why we should apply Gypsum to soil ? 
	

2 

(e) Write down the recommended FYM and 2 
fertilizer dosage of Vi  mulberry garden per 
hectare per year. 

	

8. 	Write 'True' or 'False' : 	 10x1=10 

(a) Litsea polyantha is the scientific name of the 
som plant. 

(b) Muga silk is grown throughout the world. 

(c) Chawki rearing refers to young age 
silkworm rearing. 

(d) Mulberry is propagated through air 
layering. 

(e) Glycel is a chemical used to kill pests and 
diseases. 

(f) Harvesting of shoots takes care of pruning 
of mulberry. 

(g) Soils with pH less than 7 are called alkaline 
soils. 

(h) Bivoltine completes more than 3 life cycles 
under natural conditions in a year. 

(0 Gypsum is used for reclamation of alkaline 
soils. 

S36  mulberry variety is characterised by 
erect type of branching. 
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(i) 11.11 ,(14-11 -rwzr7:fff-- 34-4-RTT atT -gr-1-117 -ch-rtrcrot 
afaitd 	 79.  	rn 	117-47 3rra.  

tqtriVali, 7-6uf-o 7:1*.er t 
(j) 	 -wig, *ark, 	 ft-9**-731 

-14 km4ics, 

(k) 74( 	"Wi 111 41, ql 	 TrriZr 
fart 	 

(1) 791. #,TuT klRg ►aff fdWRi rm. litat 7.4 

chid 	ard7r *7 .k.4 	Mazur 	 

	t 

	

2. 	(a) tirti*k ,tild*ITIt 	i TITT11* -ffTT:f WiTi7 I 	2 

(b) eqq) chl 	7117e 	fffftg7 I 	 2 

(c) -71k141 ,411e. *f*.t 7'r (gm 4iq41*-97ffurtg71 	2 

(d) 17111-11 41c4f*3144-iii *AzffifOiTzli0774 	2 

(e) 3Tti*Ii%irtrui* 	Ttt:p ataT7 i t ? 	2 

	

3. 	(a)'qrgff rcb-i TfEr tredzff 'Wf 317R:1 rcbqi 77T 	2 

t? 

(b) t*SUT 	 f*-71:4 tf-07. 	2 

7V0 •"44 V177 1 

(c) 777 tt-t ftP:1't *-9-114 ti717, ,si-; a a 	2 

aTitilftff ft-elfaz11 	317fff 	TIP f7rr 
	t 

(d) cbld—WIZ*7P-T 	t? 	 2 

(e) 7itu 	'tat' qwqr-t.t.4 * 	41 tt fob 	i tf 	2 

11141W whrr f-*--zrr 	t? 
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4. (a) 2 'ql.g7 	4 3Pi-m.  tf 14-3470 	7FT 

IFP17 I 

(b) -k * drit--"te tic 4 Tr-q-a- 	aiaTfff 2 

VziWr, 717-17 	t fW14* 91"gf fFfgR I 

(c) "MN 'qz:IT eit'A 13fg ("TFATC-7.) 	sIyl it * 

t? 

2 

(d) -44 drit, t1 	drk-te iTTM 	Trt-d 2 

rcrvi 	 qua 	wia1 t? 

(e) TIT cprti 	3td-Mz17 1:RM * 	dmi 7T4 2 

01101 f"*--4e 	71:1-01*7P1 fUrgr7 I 

5. (a) TfItit V{TIITTT 	4iq4.1 *3749 2 

ffafr fifri I 

(D) atfmwt? 2 

(c) el* 	 *TA 	tilt* 

7F1 

 

f l 

2 

(d) ITT 71%114 7a-r -4--<w*rqzrr kfff 	? 31774 

fiztrq--d cr.) 	t? 

(e) 37-dItuichrdci417171F311*31-44ff -MUfWPRI 2 

*tr--o-a-Fgarlzrrt? 

6. (a) -k*W17 rzt4I-W-0711* 	fe4317f i77-0 

acio4 "grqftt TTT Rbql 	-icncift I 

2 

(b) miTen1 *77(741:ETT V

1 

 'AK; 7W' el mil 	31fff 2 

t47 rz3ffci raTZ 	t? 

(c) 3T4' rct.)41 	Tglff 	tit 	9*, chielf@i 	z 2 

tz-19. 	f*--d91 Trr-AT 	t? 

(d) VIM * 	ti 'iit clic4 2 

1W-1:17414*714 fFrgfR I 

(e) fay 	WIT t? 2 
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7. 	(a) 71-41ff 	cil 	'WW1 	ctl-t-Tft fetrz4 'Wf 	2 
39771 ralqi wine t? 

(b) cbtit) art t? 	 2 
(c) *-* ftfq-rl -k 7p1 qzrr ? 	 2 

(d) 17 14 -Nt4Trwr 51,1141170 cbt-ti 	 2 

(e) V1 'kriTU 	 Arff .*Tr{ 7170  	2 
Tkp TRAtT:r. atIt 7-47w twr'.0 f-4-{r 

	

8. 	(go 	Trgl-  zrr rem w.1 	i fffra -R : 10x1=10 

(a)"e'7# tiTF7'2777-41:11tv T tew 7p:r t 
(b) "TTT -kqi+-1 	dc1-11q1, rcikq 4T7 14 rchql ■31111 t I 

(c) -qV .b1d41Mpi 	31717 	.kk1 1-1 0111d 410-1 4 
tl 

(d) Trt'ff TT 7749 TO'144 .4 	.11441 	t 
(e) 1MI ti M,1:117e 	1-IR; 3T t1+1"11k1i 	FMS 

3rojwi 	te4Pict) t 

(f) 5( 	 tag' 	vrtu 	chid-Vra.  

fw 	cit1 c.)1 	t 

(g) 	 (pH) 7.0 t f9.9 	kTItT 1c4 
cbmci 	t I 

(h) tt;f7, 'Tlf 14 71-fraT 77TT3 * 31.7rfff 314 alfirW 
717ff nisi)* 	t I 

(i) 17771:1 	544141 kir(174 174 	TITT 	 
f*7{1 X11 d 	1 t I 

(j) "qTrTff V' S36  ft -Pi 	f-AfF 'qtrf 411T kikgi 
t i 
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